Advanced Business

The news

How employers benefited from pension schemes 

With yawning gaps in the balance sheets of many company pension schemes, analysts and shareholders may well wonder why employers ever thought to offer retirement benefits in the first place.

However, a quick look at data from Inland Revenue suggests that companies now complaining about the expense of pension schemes have done pretty well out of them.

The data offers some insight into the scale of the contributions holidays enjoyed by employers.

These dwarfed those offered to employees, even after taking account of benefit enhancements.

Another benefit not shown by the data is the extent to which surpluses were used to finance swingeing redundancy programmes, the benefits of which flowed immediately to shareholders.

Workers were offered early retirement packages with enhanced benefits paid for with surpluses.

Indeed, in 1986, then Chancellor Nigel Lawson became so concerned that pension schemes were corporate piggy banks that he decided to crack down.

Companies whose surplus was more than 105 per cent of liabilities were required to come up with a plan to reduce it over five years or face taxation on returns.

Now, companies are worried that enhanced payments will cost them a lot of money and that this will have a negative impact on their final accounts and dividend figures.

The Balance Sheet
The balance sheet is a record of the value of assets and liabilities at a POINT IN TIME, usually the end of a calendar or financial year. Perhaps the easiest way to think of it is as a snapshot of how the business has raised its money (capital) spent it (assets) and to whom it owes the capital and any other debts it acquired in getting the money.

The Profit and Loss Account
The profit and loss account records money flows over a period of time and therefore allows us to see if a profit or loss has been posted for that particular time period. It helps us and others check the financial performance of a business during a specific period of time. Think about stakeholders for a minute and how they might use this figure or why they may be interested in it.

	PRIVATE
Stakeholder
	Use

	Government
	For tax receipts and ensuring the profitability of business sector

	Shareholders
	Looking for good management and a good return on their investment

	Management
	Examining how well the company is doing and where

	Investors
	Is it worth us putting our money in this business?

	Creditors
	Are we likely to get paid?

	Employees
	How safe are our jobs?

	Local community
	How well is the company performing and how might that affect us?


You see. the numbers are not that confusing and they can be put to good use. A look at company accounts can allow you to:

· Develop a trend of how well/badly the company is performing 

· Look at how well it is using its fixed assets and what value are they currently at 

· Examine whether there is enough working capital being generated 

· Look at how are they raising their capital and from whom 

· Look at how well are they doing when compared with similar companies 

By looking at 'profits', which need to look at carefully to see how they have been defined we can see what size they were BEFORE the taxman got hold of his bit and what will be the probable size of dividends shareholders can expect. We can also tell WHERE the profits are being earned, or not and HOW MUCH is being put in reserves for future expansion. All of these help management in planning.

Of course accountants are clever and what we see in annual accounts need to be looked at carefully.

Beware of WINDOW DRESSING. Look out for:

· assets being sold just before the last day of the accounting period 

· declaring sales in the profit and loss account when the full payment is still awaited 

· delaying payment of bills until just after the accounts are closed 

· over valuing assets, especially those that are known as intangibles 

You also need to look out for:

· signs that investment has been high in projects that have yet to be finalised 

· what has happened since the accounts period was closed 

· how the market has altered since the accounts period closed 

· the actual quality of the management running the business 

· changes in any other external influences after the closing of the accounts period 

ALL of these can make the declared figures less useful than they might have appeared.

Whilst revising accounts it's always worth looking at working capital. Remember it's is the difference between current assets and current liabilities (what we owe), or it could be called NET CURRENT ASSETS. It's important because:

· it allows us to meet the daily running costs of the business 

· it allows to finance any increases in costs as the business expands 

· it helps us keep suppliers happy as we can pay our bills on time 

We might have to improve our working capital if the business needs it and to do this we can:

· not pay on time, though this has to be carefully done 

· seek short term cash inflows e.g. increase overdraft facility 

· ask others to pay what they owe us sooner or more promptly 

· and if problems persist look into ways of raising more share capital or increasing loan capital 

When looking at the value of FIXED ASSETS you need to remember that they will be DEPRECIATED i.e. have their value written off over a period of time. Depreciation is an expense to the business but it does allow for money to put aside to replace capital equipment at a later date. Most Awarding Bodies ask for the STRAIGHT LINE METHOD, which is:

	PRIVATE
initial cost of assets - residual value
expected life of asset in years



The big issue concerning accounts in A2 examinations always seems to be ratio analysis. So, let's think about this for a few minutes. First point to remember is that the calculation is normally less important than what you do with the number you arrive at! So, why do we bother with these calculations? Well, they tell us something about:

· HOW the company is performing 

· WHERE shareholders and other stakeholders risks are being put and how well the risks are being managed 

· WHAT risks exist if others want to trade with us 

· HOW much money is being made and who can ask for what share of it 

· WHERE we are in relation to others 

So, actually they are quite useful. You will need to know certain types of ratios and they fall into the following groups:

Liquidity

Liquidity ratios look at how much and how quickly some of our assets can be turned into cash. You might be asked to calculate and comment on:

· the liquidity or acid test ratio, which is: 

	PRIVATE
liquid assets (cash and debtors NOT stock)
current liabilities


Normally, we think that 0.5 to 1.0 is adequate but always look at the business. Its is quite possible for a food retailer to run at a lower rate than this and still be very profitable.

· the gearing ratio, which is: 

	PRIVATE
long term liabilities + preference shares
total capital employed

	x 100


This ratio tells us how much of our capital employed is borrowed. If you borrow money you are legally bound to pay both the INTEREST and the CAPITAL sum. So, you have to earn enough to do this before you pay your shareholders any dividend payments. Certain types of business tend to run on high gearing ratios, e.g. mines, who can make large profits and pay both debt interest and shareholder dividends. Normally, anything over 50% is getting rather high but as we have advised on many occasions look at the business in the CONTEXT of the question.

Financial efficiency

You could be asked to calculate and comment on the use of three ratios in this category.
The first of these might be the asset turnover, which measures the sales of a business in relation to the assets it uses to produce the sales. It is normally calculated as:

	PRIVATE
sales
net assets



Normally, if the ratio is increasing it means that the company is using its assets more efficiently. Again it is always worth thinking about the exact business market your question is set in.
Next could come the stock turnover, which measures the number of times in one year that the stock of the business is turned over. Usually, the more times you turnover your stock the more profit you generate. The formula for this ratio is:

	PRIVATE
cost of goods sold
average stock



the average stock is calculated as:

	PRIVATE
opening stock + closing stock
2



Always check the market in which the business is operating, for the speed of stock turnover does vary.

The last ratio in this category is the debtors days ratio which shows how long, on average, it takes a company to collect its debts from customers. The ratio is calculated as:

	PRIVATE
debtors
credit sales

	x 365


When using and commenting on this ratio again look at the nature of the business and see how much it relies on credit sales. Normally, the shorter the period the better.

Profitability Ratios

We all know that profit is one measure of the success of a business and the examiners might ask you to calculate and comment on one of the following.

The first could be the gross profit margin, which looks at the margin of profit earned before expenses are deducted. It is calculated as:

	PRIVATE
gross profit
sales

	x 100


Obviously, most firms aim to make as high a gross profit margin as they can. Again look at the market in which the company operates and especially look out for perishables and taste changes.
The net profit margin measures the relationship between the level of profit made after all expenses have been deducted and the sales revenue generated. Again the larger the better is the normal rule, with consider for the market context. It is calculated as:

	PRIVATE
net profit
sales

	x 100


The last ratio in this category is the ROCE or return on capital employed. This measures how well the business has used its capital to generate profits. Again the higher the figure the better, though care must be taken to compare results with previous years and with other similar companies. It is also worth noting what else you could have done with the money and this usually means looking at the rate of interest available on other investments. The ratio is calculated as:

	PRIVATE
net profit BEFORE tax and interest
total capital employed

	x 100


Shareholders' Ratios

The last category of ratio that might appear in your papers is that of the shareholders' returns. Normally, they ask for two, which are:

The dividend per share which like most ratios is normally thought to be 'successful' if it is larger and getting bigger. However, always look at see if the company is holding back some profits for investment. This might allow them to announce a lower dividend in the short term and promise bigger returns once the new investment starts to pay. It is calculated as:

	PRIVATE
total dividends
number of issued shares



The other ratio they could ask for is the dividend yield, which shows the return on a share compared with its current market price. Again the higher the figure the more satisfied shareholders tend to be. As with all 'returns' it's worth checking to see if within the question an alternative way of using the money is given and what return that might pay. The ratio is calculated as:

	PRIVATE
dividend per share
market price of share

	x 100


That's all for ratios. Once again don't worry too much about them and remember it's what you say about them that really matters.

Break Even, Contribution and when to accept an order

In the A2 questions they will assume that you know what both of these tools are and how you calculate them.

The examiners will expect you to know that break-even is used to assist firms decide on:

· if it is worth starting to make a product 

· if it is worth introducing a new product or product line 

· what profits should be earned if everything goes to plan 

But at A2 they will probably CHANGE one of the variables, such as costs or prices. You will then need to calculate how these changes might affect the profitability of the company. They might also ask you to decide whether a one-off order is worth taking on. In such a case they might also change the price you will get for this one-off order. So, what should you look for?

1. Does the price you are being offered exceed the variable cost of production? 

2. Does the business have the capacity to make the one-off order? 

3. Can the company be certain that this one-off will NOT enter its normal market and therefore act as a competitor? 

4. Would this one-off grow into something bigger? 

If the answers to these questions are yes or at least if that applies to the majority, then normally you accept the order.

Some questions

1. What is (a) a Balance Sheet and (b) shareholder?

2. Why might the redundancy programmes have benefited shareholders?

3. How might you be made aware that a company is ‘window dressing’ its final accounts?

4. What does (a) the acid test and (b) the dividend per share tell you about a company?

Some suggested answers

1. (a) A Balance Sheet is a financial statement that records the assets and liabilities of a business at a particular point in time. It shows how a business raised its capital and what it has invested it in. (b) a shareholder is a person or organisation who owns shares (stocks in some parts of the world) in a company.

2. The redundancy programme would have released funds for investment elsewhere within the company. The cost base of the firm would have been reduced, so making it more competitive. The company is re-focusing its operations and attempting to make itself more profitable. If successful the shareholders should receive larger dividends. The chance of greater returns might lead to the share prices increasing. This would give the current shareholders an increase in the capital value of their holding.

3. A company who is window its accounts might be selling assets just before the end of the financial year and so boosting cash reserves. They might also be including profit flows on contracts not yet complete or on contracts where profit floes might fall as the end of its life nears. Other little tricks can include: delaying payments or over valuing intangibles in the Balance Sheet. Remember that any set of Final Accounts are dated and things can have changed since the books were closed. External influences might also have made the accounts look more successful that they now are. 

4. The acid test shows us how much money we have reasonably quick access to if we have to meet our debts. It does not include stock, as that might take time to return to cash. We therefore look at debtors (those who owe us money) and cash – the end result of the sales process as we now have the money. We match these against short term or current liabilities and express it in a ration form. Normally, .75 or less is acceptable. The dividend per share is calculated by taking total dividends and expressing this as a percentage of the number of shares issued. The higher the rate of return per share the better, as shareholders will be receiving more in dividends. However, firms do not always use all profits in dividends (post tax obligations). They might be planning a period of intensive investment, or know that old assets will need replacing.

